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DEPARTMENTAL EXAMINATIONS

LOCAL FUND AUDIT DEPARTMENT TEST - COMMERCIAL
BOOK - KEEPING

. (Without Books)

Maximum Time :1.30 hours Maximum Marks : 60

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qamer@ Ml euens efarrggmer

Read the following instructions carefully before beginning to answer the questions.

eﬁ]smrrésg@bésg aflenL_waflés QarLmki@h ey Sp&seim 26l TEmeT SaUEDTE Ll SS6LD.

NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.

Qns <Menssdler e umdlanfer eurrsamssaild, @GraECsiu Csmeuliig CLiemm
umedleufleim aumTéenss(@hHid <L hIGLD.

This booklet should not be opened till the Invigilator gives a signal to open it. As
soon as the signal is received you should open the booklet and then proceed to
answer the questions.

Qs elamgCsrgllamen sansrafluurearflar oigund CQupEsHE WWeeT SDésHemLTE).
samarentliumrert edlearms6smE L amer g]g)uug,m@ a@m'@ Seflgsaen aflammsdsmEldaner
mpg efen_weflss Qgm_miseamb.

1.  This question booklet contains 60 number of objective type questions. Prior to attempting to
answer, the candidate is requested to check whether all questions are there and ensure that
there are no blank pages in the question booklet. In case, if any defect is noticed in the
question paper, it shall be reported to the Invigilator immediately, within first
10 minutes after which no request will be entertained.

Qeuciamgsrar 60 Qameargdl cums elamssmer Qamamig. olawariugmyiser elenwellss
Qi@ (e, efermggrefied ereveom eflenmésend @b ubmieTerereur arenLiamsbd, gCosab e
ussnisar / ellanmrdser UL mod eflHul (Herereeun eraUmSLD Flluriggd Csmererey.
Nemgsnafldr gCsaund @en Quler eflemssrenar Qupm Ger LSgH HIOLRGERGEGET oD
samsmasiuurarflib Qsfelss Couar(®n. SisneE Wng Gsflalssiumn Carflémasdr ggib gnHmE

QameemiuL DML Tg).

2. Answers all questions. All questions carry equal marks. ;
Smansg efamssErsEn el walss Couamhib. imearsg ellamés@nd gwworear WHOIGE LTS
Qasmeir_eneu.
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Candidate must write his Register Number in the space provided on the top right side of this
booklet alone. Do not write anything else on the Question Booklet.

eflameamriiugmyflen LflQeuamenan Geueilamrggmaflan G euag LEESHD sDCsar @gsslILL [HdTer
QL gdla er(ps Cauamm(Bid. aflemmggnafe) Goum eTangu|id eT(PSE FnL_Tg).

The sheet before the last page of the question booklet shall be used for any rough work.
ellenmgsreflen sen_& LESESDEG Wem LEssHe rough work erpdl unés 2 LCWTHSHE Qameremeyw.

(a) Each question comprises of four responses i.e. (A), (B), (C) and (D). Candidate shall select
only one correct response. In case, if the candidate feels that there are more than one
correct response, shade the response which he considers is the best.

(b) In any case, a candidate shall choose only one response for each question.

(¢) If more than one answer is shaded for a question, the answer will be treated as
wrong and no mark will be given for that question.
(d) The total marks will depend on the total number of correct responses marked in the

OMR answer sheet. (For this purpose, only one shaded circle for a question will be taken
into account for awarding mark)

(a) geaGarmp aleamaingn (A), B), (C) (D) e preng efaLsdr Qar@ésiul (Hererg. -
eflemenriLsTrT Seubdler gGaaybd e sflwurear eflenLamwus Caorey Qe CeauamBHib. Qeammn&E
Cupul L sflwurer ellenLseT g ellamelinE @@ULSTS smEamad, Seuphe aeueiaL Was
gflwreng) eren smgSlHTaGert, euaflan_enw Blpedl { s L CouammBib.

(b)  ereueumdwLGand, g elameineE Cr e elamLmwus srear CoiblsH&s Cauamm(iw.

(© emn damelne gamse Copull el msald o walssiul gmbsTd el
SUDTETHTE SHSLILL (), aehaﬁ]smrreﬁ]g')@ UGG eupRISILIL ML TE.

(d OMR e g srefldo @hsstiul L sfliurer elensamer Qurmss, Qs wEHLICQUEETSET
auprislIL@W (g edameilng e el Lgdld (GOl L) flpeadl L e wiHCw wdHuGluem

euLPmIG SarTadle) eT(HSgIE amaraTiiLi(Hb).

Do not mark the answers in the Question Booklet.
afermggrafler eflensenend GOILIGLE smLmg).

Candidate shall not remove or tear off any sheet from this question booklet. During the
examination he is not allowed to take the question booklet out of the examination hall. Only
after the examination is over, he shall be allowed to take the question booklet.

aﬁ]e&mmuugﬁuﬁ, ellenrgsratlan eThg 6(h ué;a;g'scmg,mm, ﬁé;a;(ﬂa.lrr sag HPssGaur amirg. Csiey
penL_Gumib Curg), efenmggrener Caiey sal sangeill (H GeuallCu er(hsg Qe eaywd e wirg.
Csiray iy hs WenarGr eflammggrener or(h$sF Qada and&aliufeur.

Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide.

Cuopsar.  Meyenrasaies gCsayn Bpuu@Coureamd Csreuramamud aTH&GL sam_mer /
BLalg&en&d@ 2 ererma Grifl(HiLb.

In case of doubt, English version is the final.
damssafle s6CzalHLGa, hida cugeiler Aar@asiiul_(Harer elamassGar @midluimers.
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1. Which of the following is not the -advantages of book Keeping?

(A)  Calculation of dues &7 Control over liability
.(C) Control over Borrowings (D) Taxation

ECp Qsr@Résl UL (erareunmieT eréanpm sansCad s uymoflid Lwearde?

(A)  Heyeneusener semradl_e (B) Qummiiyser Bg s Hrum
()  sLansar 8s s_GLUUTE D) afdduy 4
2. Which of the Following is an accounting cycle?

JJX)’ Trial Balance — Trading account — Proﬁt‘ and Loss account — Balance sheet
(B) Trading account — Trial Balance — Profit and Loss account — Balance sheet
(C)  Profit and Loss account — Trading account — Trial Balance — Balan(,;e sheet
(D) Balance sheet — Trading account — Trial balance —> Profit and Loss
EGp QsmR&sLLL ReTareupmier samédwue s (panuile euflamsiiu(Bssss g 6Tg?

A) @muuriey —>ewrury sardsE — @eru BLLLD sard@ —> Gmuy Hlae Golly
(B)  wruny sewsE — @@Luumiey —> @eru bl b sardE — QUL Hlene Gmlly
(©) @eruplLb sars@ — elwruny saréE —> @@Quﬂuﬁﬁq — @iy Blena @olliy
D) @iy flae @iy —eflwrury sarsE — QmUurie) —> Geru pLL b 5@&@

3. Cash drawﬁ from bank for Office Administration use will al.ppeai" in the cash book in the

(A)  Debit side
(B)  Credit side

J€5  Both sides
(D)  No entry is required
SiQeues Blieurs Coameussts @Jréja%]uS]@S]@bgj LIguorLD @@&@L’D Gurg sgmen Qynés Lssassl0 Ldeay
Qewwu@b LSsSLD
(A) UMM U&SLD
(B) eureyussd
(©) @ ussrsaiigd

D)  uvdey @&U’.Ju.l&u@@.@@b@meﬁ

3 008/DD/18
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4.

Which of the Following is not correct?

[(A)  Net purchases Total Purchase — Purchases return

(B)  Net sales = Total sales — Sales return
(C)  Income = Revenue — Expense
B Capital = Liabilities + Assets

&G QarH&sslul_(HeTereupmIET aTEemD ) SeunTeng,)?
(A)  Blay Qararapse = Qurgs Aenerpsd " QeuaflgdmLuiib

(B)  flareipuener = Qwrss ellhuemer — 261 SHLiib

(C)  augmwmamDd =‘6'LI®GLIFFU'J - Qeeyser

(D) apogerd = Qurmliyser + QeTsgsaear

~ Which of the following is not an assumption of account procedure?

(A)  Accenting Entity ' (B) Money measurement
(C)  Going owner @r Historical cost

&G AarRsasiiul [HeTareudmeT SamsSc) &(HSEISEs6mN0 SIETEID HDMTESS?
Q) sansdlud saflssemeamn (B)  uawodlShH

(C)  Pmeuers Qgriss (D) yrsrer SLsselleane

Which of the following is not a concept of account procedure?

(A)  Dual Aspect v(,Bj Account period concept
(C)  Full Disclosure (D) Revenue Realization
g@;}g AarHésiu’(HerereupmeT Hanréd e QFWapamnEE sHESTETSE 6T ?
(A) @l geaneo &hss) ' (B) sawmsdue sre smss
© @ QaaliSi G swss D) auggamis iy s

Which of the following is not a modifying principles of account procedure?

(A)  Cost benefit ' - (B) Consistency
@) Matching , (D) Prudence *
&Cp AasrRésuul Reraraupmer sansdwe QauaHpansE SMHESTETES 6T8?
A) sLsselene uweTur () Aamatens (B) Qsmirsd wry Qererens
(C)  Qunmssims Qsmaiams (D) weanGansefsms Qamerans
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- 8.

10.

The International Accountancy standards Committee has been setup in?

& June 1973 (B) July 1973
@C June 1983 ' (D) July 1983
SiFl@ 2 W& SETEEIED FTEG (L HDWESIUL L aUHLLD?
@) goean1973 B) s 1973
(C)  agoam 1983 (D) mOma 1983

The Principle requires that the same accounting methods should be followed from one
accounting period to next is?

(A)  Prudence .(Zy Consistency
(C) . Cost benefits (D) Business entity

THELSTEATHWINENS) @ HETSHHTETeanTls.e) [AeTLHDEamiq Apenudans =(HBS!I 6u(HLD 5%5;51'@5?14@_@
WemupmiiuL CeuamrBid eram cuadymSsISHms?

Q)  walassisms Qameans (B) Qgrié oy Gsrerens

©)  siLsselene vwemun_ (H& QsreTens D)  euamfls safisseamamn Qsrdarms

Which of the following statements are correct?
Dual aspect concept means every transaction has two aspects
Consistency means comparability of financial statements
Materiality means anticipate no prolﬁts and provision for all possible losses

Prudence is a concept of accountmg framework

1
2
3
4
¥ 1and 2 are correct . (B) 3and 4 are correct

(®)) 1, 2, 3 are correct : D) 2,3, ‘4 are correct

&Gy der(ssiiu’ [Herar sapmisaler sfwmer by erg)?

1. @rieL gaamw &gl eTemg G)(hH SemennseneT Csmeam_smELb.

2. Ggmr&dl wry Qererens eranug) Hldflama <idésmasman @UL Cpré@ausn@Ld.

3. eaman 2 aniggb AsTdras g omLsms TETCHIEETg Damed) HHES TETUTTEELD
' BLLB&SE@EEGD 81660 CalaugmnEb.

4. palarésflsms Qsmeaams aranig) sansdwucen SmESiH b0,

(A) 1 wHmb 2 s 7 (B) 3 whmwb 4 &

(C) 1.2 wpmib 3 & (D) 2, 3 wpmid 4 &M

5 008/DD/18
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11. Goodwill is an example of

(A)  Tangible real alc JBY  Intangible a/c

(C)  Nominal a/c (D) Profit and Loss alc [ )
BOELWIT e (REgiEHT L Te eflerii@eug

(A) Leoann @b Censg) seanrs s B)  yeeamsr Qerég s samés,
(O) - Quuwrerey samés D)  Qeru Bl & samés

12 Double entry system was introduced by Lucas pacioli is a

(A)  Accountant (B) Scientist

27  Merchant (D) Software Engineer
Qrlen uflejupenpenws g@@guu(gg,glm anuilev urflCuireor eramLieuir

(A)  sawrssrert B)  ifleNuwied b @pi
(C)  euamflam - D) QuenQumrgper Qurdlwment

13. Which of the following is not an advantage of double entry system?

(A)  Deletion of frauds _ (B) Comparative study
(C)  Helps in decision making - 7 " Loss of control
&Gy @an(&sLuGeraraunmiet Grlani LSley Wenu9D Bereio SHDOTH) 6T ?

(A)  Cuorsgsemar sem(anise B)  @uUChrEE <liay

©)  »yludss0166 2s0i50 D) s HourE Qerento
14. Business Transactions may be classified into

(A)  Three B Two

(C) One (D) Four

auanfles BLaugsenaudien euamasU()

@A) e B)  @ran®

© geom (D) pren,

15.  All expenses, and losses in the debit side and all income and gains in the credit side Means
(A)  Personal account (B) Real account
J& Nominal account (D) Impersonal account

Slanensg) ClFewe sEnd BLLRSEHD, UM gmmmuﬂ]@m SiOaSg| @Jg@q&;@m B TILIMGI&(GTHLD auay
ST QHBSTHID SleueLns SaTES,

(A)  ydrent samés, (B) Qersg asama'a@
(C)  Quuwrerey s, (D) syérangn sawse

008/DD/18 6



16.

17.

18.

If the capital of a business is Rs. 3,00,000 and other liabilities are Rs. 2,00,000, assets of
business is

o
(€)

1,00,000 B 5.00,000
2,00,000 (D) 3,00,000

e Ggrfle fineuasdar ppaogand 5.3,00,000 wsab @s7 Qurmliysd .2,00,000 H&E|LD'
BB&E D UL ssHla pHneuasdler Qergg) Ly wng?

(A)
(®)

1,00,000 (B) 5,00,000
2,00,000 : (D) 3,00,000

Which is not True?

(A)

SBf

(C)
D)

Increases in assets are debits

Increases in capitals are debits
Increases in liabilities are credits

Increases in expenses and losses are debits

&G Qar@asul_Herereudmer ergy sfwumer sy <idva?

(A)
(B)
(€)
D)

Qars g dsemen 2FleM S50 LD G ehiseT <E0

gpagand flsflisd unm GlammhiseT o, EL0
Aumpiiyseaer 2idlsfgsen curey @armiser <@L
Ceeaysar HmI B L HisET dafsse Lhm Eatiser @b

In Triple column cash book cash deposited in the bank will appear in

(A)
B)
(©)

Debit side of the cash book only
Credit side of the cash book only
Either debit side or credit side of cash book

J#7  Both sides of the cash book
Guush Cymés gligd andde umb Qeaisdums Qrrés olger alusssdod udey

Q@i

(A) Ql;rrré;a; gLliged Lpdled L (Hb

(B) Qrés erlig Gugeﬁ]d) L HD

(©) @Unéaé TG UDD HDF) éuueq L&SLD oL (HLd
(D) Qs erlige @ LSS D

7 - 008/DD/18
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19. Amount directly received by bank as per standing instructions will appear in

&ﬂ/ Debit side of the cash book only

(B)  Credit side of the cash book only ) ' &
(C)  Both sides of cash book '

(D) Either debit side or credit side of the cash book

Bleawrear ameamseiar Uikl Crrgwurar Qeaussiiul L Qrresnd Qrrés Tl erlILGSD
udley QewwIu@HLbD?

(A)  Qorés gilige upDL LESESS D WL (HILD

B)  Qrrss iy eurey UESSHE® WL (HIb

(C) Qrrés glgd Q) usssHain

(D) Qurés é,n_'_Lq_si) UDMI 246evg) U6y LiG&WD L (Hibd

20. Interest allowed by the bank will appear in
J&¥  Debit side of the cash book only
(B)  Credit side of the cash book only
(C)  Both sides of the cash book
(D)  Either debit side or credit side of the cash book
aumdl sefigs el iy Qrrés ufCeul 46 erliugan e QewtiL@Eib.
(A)  Gyrés glgd upml usssHe L Hb
(B) Qrrés gliyed euyey LEESSHE WL B
(C)  Qurés eliged G)(m LESSSHQID
(D) Qﬁrr_ésa; FLIgd LHM S euTe| LSS L (HLD

21. The balance of cash book indicates

(A).  Net income , (B) Net expenditure
\}Gﬂ' Cash on hand V(D) Debtors and creditors
Arrés glyer @nid Qmuy 2 anisgios) _
(A)  Hlareumwomend (B) Hlay Geaay
(C)  amslimLy (D)  sLemafl wHmib sLetBCHTT

22.  The balance in the petty cash book indicates

_ \ﬂf An asset (B) An expenditure
(C)  An liability (D) An income
fm Qrrés uHCeuliger @md @(HUY 2 amriégieus
A)  Qorgsy | (B) Qswelland
(C)  Qummiy D) eugmeumis

008/DD/18 - 8



23.

24.

25.

26.

On Jan 15, 2018 Rs 1,000 given to pétty cashier. He has spent Rs.750/- during the month of

January on February 1%t to make the imprest he will receive cheque Rs.
@ (V) Rs. 1,000/- BT Rs.750/-
(C)  Rs. 860/- (D) Rs. 250/
sameufl 1, 2018 wyanmy Hevaengd sremerfiib 51,000 griulLg. geeufl wrsh e @.750
Qeeufgsmi. Aireufl 1 iemm jeui Gumid (pe LiemT B yssrs Quub srCaranauier Asmans em.
A)  m.1,000/- B)  5.750/-
(C)  m.860/- , (D) em. 250/-
An amount drawn over and above the actual balance kept in the bank account is known as
JA”  Over draft © (B) Drawing
(C)  Goodwill (D) Outstanding amount
uridl sasdld) 2 eTEnLDWITET @@uua;@ sflswrs Uy Qelynd Curs igmen ereueumm)
SianpadlComin?
(A) aumdl Guesusnrlumnm ‘ B) ehHuy
©)  mHGuWT _ (D) Qar@ur Ceueamgw Ggreans
Bank reconciliation statement is prerpared by
(A) Bank ; (B) Creditor of a business
(C)  Debtor of a business J2r Customer of a bank
aumdl eflsl_Hib Ul gwene Fwmilliueurr wm?
A  aumd B) aaflssder sLafbCari
(C) mmﬂsgﬁm SLarmefl (D)  eumdl umgsenauiraTT
The bank statement shows an over drawn balance of Rs.20,000/- A cheque of Rs.5,000/-

drawn infavour of a creditor has not yet been presented for payment. When the creditor
presents the cheque for payment the bank balance will be

(A)  Rs.15000/- @9’ Rs.25,000 /- (over drawn)

(C)  Rs.5000/- (D) Rs.25,000/-

ands sarssfléms ;20,000 Cuaoamiupn s (dpng: sLafbCermss alss srGerame
e5.5000 @geuey Qequsmmsss waalooiu@ssiuLelome. sLabCsrt  srGerema
Qeqsgiamsss paraflmaliuBsgib Qumpg cunidls saréE QUL '

(A) er.15000/- (B) 5.25,000 /- (Cueéeuenrliupm)

(C)  em.5000/- (D)  @5.25,000/-

9 ‘ 008/DD/18
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28,

29.

30.

The error arises when a mistake is committed while totalling the subsidiary book above the
normal total amount is called |

(A) Totalling .}Bj Over casting . )
(C) Under casting fe (D)  Error of Omission

giaman ghaaller o drer dgransilamand sl Hb Qurpg samsors WESHurs Curssd(es
STEUAUTM] M LP&SILI(ID?

(A) sl e Yenipaar . (B) Wens Awrgsn
(C)  ©eon Qurgsbd (D) &li(h Genipsar

If the total debit balance of the trial balance exceeds the total credit balances the difference

is transferred to the side of the suspense account.
W& Credit (B) Debit
(C)  Asset (D) Liability
-@uumnieie upm Qrulseflar Qurgsbd, aure) GLilselear Qwrsssms AL BlGHwuns @ minden
Ceupmiening Cgmens i BTLOEEIS Sewred e - U&&SS M@ wrHoliu@in
(A) . aray _ B)  upm
(C)  Clengg (D)  Qummiiy
Suspense account having debit balance will be Shows on the side of the

balance sheet

(A)  Credit side of Profit / Loss Account (B) Debit side of Profit / Loss Account

JZ{ Asset side of the balance sheet (D) Liability side of the balance sheet
2ABMoGES sensdear uHm Q@mUy, @@Lyblows @Hluda : BTN
Caremmid
(A Qeoru plL sansde aure] LSSD B)  @muu Bl sanésdld unm LD

©)  @ouyblews giludd Qergg ussnd (D) @@uyllee @i Qurmitiy ussD

Cash received from an individual whose account was previous written off as a Bad Debts the
account be credited to '

(A)  Individual Account _ (B) Miscellaneous Income Account
(C)  Miscellaneous Expenses Account J,D’f - Bad Debts Recovered Account

aupmésLen erar CuTsLswasiul L sLamar e sellbufLl@hg Qupp Arréssdmen curey meuss
Geuemriquig

(A)  saflpur sawsE (B)  fovwenm augporeans seanréE
(€)  Soawemp Hrwey semés o (D) Ambul QuHD euTTTE SLGT FET &G,

008/DD/18 10



31 °

33.

34.

35.

account is prepared to avoid the delay is the preparation of final account
(A) Trading Account ,(435 Suspense Account

.(C) Imprest Account ' (D) Profit And Loss Account

ahss SaTEGSET surfluugar apo QmSlsE sars@sar swurfllugharer srossmss seliss
e dng).

A)  auefls sande B)  pmnsgis savé s

(C)  qperuent B serrdE D) QeruplL sarés

Which errors are located and rectified : account Automatically gets closed?
(A) Trading account JB) Suspense account

(®) Imprest account (D) Profit And Loss Account

&G Qar@&ssuulHereteunmier 6THs sessTaTg @mUumime urda@n Yapser idag)
QauaflliiBagib Yenpaseer SmassuLBL QUTE (Wpigey GumLb.

(A)  euenils sanrds (B)  <eiprnssis sanss

(C)  wparuen By sanés ‘ D) QeoruplL sanéE

Salary paid to manager must be debited to

(A) Managers account (B) Office Expenses account

ﬂ Salary account (D) Wages account
GCuaremmés euprisiul L eadluib erhs sarsdld ubHn meussiiuL Cauam(HLb.
(A)  Guemeri sard@ (B)  emeuas Aeaey samds
(C)  sbuars sawse (D)  &aell ganrds

Cash on hand is an example for

JK)' Current assets (B) Fixed assets
(C)  Current liability (D) Fixed liability
a&udl(HLILSE @ eT(SSIGSTL(H
(A pLOUY Qergg (B) Heneowran Qargg
(C)  mLOy Qummitiy (D) Heveowmrar QummyLiy
Salary and wages appéar on the account.
(A) Trading : JBT' Profit and Loss
(C)  Balance Sheet (D) Trial Balance
FDUIETD DHMILD Faedl — samsdle @ b6umb.
(A Swrumry (B) Qemumio
©)  Qmoy o @iy D) @muuriey

11 008/DD/18
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36. Assets can be classified into

(A)  Two | B Three

(C) Four _ ' (D) Five

Qenggisamer erdsaman cuanains G flésamb?

@ @ran® - (B) ey

©)  prens ; D) @bl
37. Floating assets means

(A)  Fixed assets
J‘B‘) Current assets

(C) Infangible assets

(D)  Ficticious assets

Heawldans Qarés) eremug)

B)  Sowurar Csrssy

(B) mLuy Qengg

C) yeeamsrs Qarsg

D)  spueen Qersg)

38. Which of the following is not correct, Liabilities are

(A)  Long Term Liabilities
(B)  Current Liabilities
(C)  Contigents Liabilities

& Short Term Liabilities |

-&CQu Qar@asuul_(ReTereubmieT ergl Seum, UTmILILSET eTaLg).
(A)  fewr_sre QuTnLLsET
(B)  mLuy Qumrmidiyser '

.(C) BlspeuenLw i Curmiyser

D) Eondusre Guﬁg;]uqa;éi‘r

008/DD/18 AR -



39.

40.

41.

Which of the following is not a feature of Trial Balance?

(A) It is the middle stage in the preparation of account

.JBY It shows clgsing stock only

(C)  Balance shows in the trial balance are not in order

(D) It exhibits arithmetical accuracy of accounting work

601 Gsr@ssuiul Peataraupmier GmUuumiellen ibakisar SDoNss) 6Tg?
(A)  sewsE swrfssaa awow Blenaowimg o

B) @z Qi srs&dmLienu G T Hib

©  @muumieie 2 drer @muLsar aufloswurs GmLiLddma

D) sasE ufeueiler samsEsaflan flssemanwau SIDW& g LG

Which of the following not a feature of Balance sheet?

(A)  Itis the last stage in the preparation of account
BT It shows opening stock only
(C)  Balance shows in the balance sheet must be in order
(D)  Itis a documentry evidence
&G QsrRésL L Rarareupmiar @ wULjBlens @hliGen < bamkiseT Sidorss) erg)?
@A) sansE suriigsale @md uEHunso
B) @& <rbu sr&dlmuenu wl HGw a;rrL@En '
(C) Bouyblame ghlude e érer G @mUysar euflevswms @) ma@ELn
(D)  sramreuaors Qsmer iaflss (WPlgujid
Trading account of Mr. Kumar from the following
Opening stock Rs.5,000/-, Purchase Rs.25,000/-, sales Rs.36,000/-, closing stock Rs.3,000/-,
gross profit is
(A)  Rs. 8,000 /- (B) Rs. 5,000 /-
@ Rs. 9000 /- (D) Rs.10,000 /-

Am. @lont eranueuflen cuanfls samsdd Qworss erusdameands sar_fs.

<BIdu @BUY 5. 5,000/-, Qamerapse e5.25,000/ -, efpuenar . 36,000/-, @midl @iy m.3,000 /-
(A) . 8,000 /- (B) em. 5,000 /-

(© @ 9000 /- (D) . 10,000 /-
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42.  Trading account Mr.Devan for the year ended 31‘=t December 2017 Opening Stock Rs.5,700/-,
Purchase Rs.1,58,000/. Purchase Return Rs.900/-, Sales Rs.2,62,000/- , Sales Return Rs.600/-,

Closing Stock Rs.8,600/- gross profit is .
JX Rs. 1,07,200 (B) Rs. 95,700
(C) Rs.1,57,100 (D) Rs. 2,61,400

Fm. Coeuen eremueufen 31.12.2017 é{ﬁ'mcm[_r)u_! sflwuruny samsdlen Qurss orusdoman sarsd[Hs.

<2TDU @ mUL 5.5, 700/-, Qararapged ¢5.1,58,000, Qsmetapsd g‘,]@uum t;.900/-, ellmuener
5. 2.62,000, eflpuener flpiuh @5.600/-, @mid @ muy ¢r5.8,600 /-

(&) @ 1,07,200 (B)  er..95,700
©  em. 1,567,100 (D) @ 2,61,400
43.  Balance sheet is a _

J&() Statement S (B) Ac;ount
(C) Ledger _ (D) Journal
Bouufon G adng,
A ofseos (B)  sewsm
€)  GuGr® D) EHICUE

44, For a trading account Purchases during the year 2017 Rs.5,00,000/- and total sales
Rs.7,50,000/- gross profit is

(A)  Rs.5,00,000 /- B Rs. 2,50,000 /-
(©)  Rs. 12,50,000 /- (D) Rs. 10,00,000 /-

2017b  samgperer eflwrury sarsded QaTarpsd er.5,00,000/- whmb Cwrss eflnhLener
em.7,50,000/- erasfley QLDI'I‘;éj‘Jg @Qerugslener sansd (Hs.

(A) . 5,00,000 /- (B) &5 2,50,000 /-
(€  m 12,50,000/- (D) @ 10,00,000 /-

45. The book that records all small payment is called

(A  Cash book : ,GB{ Petty cash book
(C)  Passbook (D) Scroll

8y Sy Aewelaiis@psstar efleuriisamar u@a.; Qb UssasHnE
(A)  Qyrés Ussshd B)  fAm Arrés yssbd
C) andysgsnd D)  euié emasrsg
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46. CBFN stands for
(A)  Cashier Books Fellow Number
QM Cash Book Folio Number

(C) Credit Balance Footage Number
(D)  Closing Balance Folio Number
CBFN er efleunéasid

(A)  Cashier Books Fellow Number
(B)  Cash Book Folio Number 7
(C)  Credit Balance Footage Number
(D)  Closing Balance Folio Number

47. Which of the following is correct

1. Discount Allowed debit side of the cash book
2, Discount Received Credit side of the Cash book
3. Discount Allowed credit side of the cash book
4. Discount Received debit side of the cash book
X 1land? ‘ (B) 2and3
(C) 3and4 (D) land4

é"i@éza;@'mpsupﬁgjm erg) &ifl?

1. seT@EpLlg aupridlwug) Grrés uHCeul iy LDM LSSESH® LHe) elwuILELD.
2. gemenllg. duppg drrés ufCeu Igd aurey LEsESHL LHey QELILILILEID.

5 FeTEBUL. auphidlwug Qrrés LACaL 1k ey udssSHa udey QFlwILED.
4. gen@pulg Quppg Qrrss uHCeuligd LPY LsSSHL LFey CawiL@D.

4A)  1womb?2 B) 2wpmwb3
©)  3wpmb4 N D) 1 wohmb4
48. Interest on over draft side of the cash book
J& Credit (B) Debit
(C)  Either credit or debit (D) - Neither credit nor debit side
el g Gueaeuengiiunm Grrés LGeul g L&EsESE L Lgley Qauiuiu@b.
(A  aurey (B)  upm
(C)  eureu ivevg LHM (D) - eupeyb @eena LPmID Geewea
15 008/D”
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49.  Bank charges — side of the cash book

& Credit (B) Debit
(C)  Either credit or debit (D) Neither credit or debit ®
auradl Gy s1d Arrés LHCeul iged u&sgSle Ldea Qewwu@id
(A)  euray (B) uhm
(C) aure g LDY (D)  eupeyb Gerena LHMID G)eveney
50. is a reduction or concession granted by a supplier
(A)  Profit (B) Loss
\M Trade discount (D) Cash discount
cHBICLTELSTTED CUPRISLILIEHD GOD6| DIDOF SET@EHLIG T SmPEsLILIHE DS ?
A  @Qerub (B) plibd
(C)  eflwrumy semenpuLy (D) Qprés SET(@RLIlg
51.  The book which contains a Classified and permanent record of the transactions of a Business
is called
(A)  Journal .&m’ Ledger
(C)  Trading account (D) Trial Balance

@m aamilssdlar Hlaowrear caumsiuRssiul L arey Qsweysailar efeurtisamar TPGID LSSHD
GTeUaUTM) AMLPESILIHEDGI?

A EHuCu@® ' (B) GuGr®
(C)  Awrumy sewrés (D)  @muumiey
52.  Which of the following is not correct, errors not disclosed by trial balance are
(A)  Errors of complete omission B) Er_rors of recording
- (C)  Errors of Principle  #T Errors of casting
&Gy  Ger@ssuul Gerereupmear ol sflumarg e, @@Uumield Qeueluu@ssluLTs
G@DUT(HSET 6T ?
(A) @ Genpaar B)  uwdle AaGenip
(C)  eflflluleny D)  ssHuyssd Qe
008/DD/18 16




53. Negotiable instrument act was passed in

U 1881 | B) 1871
‘C) 1891 _ (D) 1901
LOTDHMILPEDT ,EUERTEFL_L LD 6TTHE 24,6007 (h HEnL_(LPEnMEE, cubsHe).
(A) 1881 (B) 1871
(C). 1891 (D) 1901
54. Goods returned by Customer. are recorded in

(A)  Sales book
JBY  Sales return book
(C)- Purchase book
(D)  Purchase return book ‘ '
aumgdHenswmenraente) Garerapse Hmuubd Celwiul L Qurmlser udle] QauuiuGin ufGeu®
(A) - eflpuemen ysEsLD -
«(B)  eflhuemen lmLul LSS0
(C) Gsmarpse LssaD
(D) - Qamargpge HEHUul USHED

55. An asset worth Rs.2,00,000/- is sold for Rs.1,70,000/- then capltal loss in percentage is

a) 10% B 15%
C) 20% (D) 30%
t5.2,00,000/ - wéiiyerer Qengsreng mp.1,70,000/-6@ ellbmred @i sseissHa
@A) - 10% (B) 15%
C) 20% D) 30%

56. An asset Worth Rs.2,00,000/- is sold for Rs.2,50,000/- the capital gain in Percentage is

(A) 5% - (B) 15%
Jor 25% (D) 35%
52,00 000/ LD{&QUL.]GTTGTT Qerggmang ¢5.2,50,000/- efllppred flevL_&@b Geomu s56ig0
A) 5% , (B) 15%
C) 25% ' D) 35%
17 008/DD/18
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57.  Which of the following is not an example for Real account?

W Dividend (B) Sales
(C)  Goodwill (D) Purchase
G Qan(héstiul Pemaraupmier Gsmss) s SidoTss) s ?
(A)  uksTETWLD (B) efpuenen
©)  mBHGuw (D) Qsrerapse
58..  Which of the following is not an example of Nominal account?
S  Cash (B) Interest paid
(C)  Discount Received (D) Advertisement

5Cp Gar@ssul Heterounmier QUWLTETey SETEE DDOTSHS) 6T5)?

(A)  Qrrésbd ‘ (B) ey Geausdwug
(©C)  ser@pug Qubng (D)  eferbumid
59.  Which of the following is not an example of Personal account?

JXT Rent (B) Capital -
(C) Drawings (D) Bank
EDESET_GUDNIET 6T U ETETT SMMTEG e '
(A)  ames | B) apse
© @By - D) auiud

60  Accounting Standard Board (ASB) has constituted in

(A) 1997 (B) 1987
yf 1977 | : (D) 2007

&eTdE &7 Hlimeuad Hlmeuiui L syer[

(A) 1997 (B) 1987

©) 1977 (D) 2007
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Number

DEPARTMENTAL EXAMINATIONS

LOCAL FUND AUDIT DEPARTMENT TEST - COMMERCIAL BOOK

KEEPING
(Without Books)

Maximum Time : 1 hour y Maximum Marks : 40

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
eflfleuren eflenL_wieflé@o cuens eflarrsgmer

Read the following instructions carefully before beginning to answer the questions.
efleméa@ehi@ elenwefléEs Qemriighd e EDEHHTL. Pl enTHEmET SEUETLONS Lilg &56,LD.

Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued.

eilenL_sear GO [Heer crameniiGamassE ifswns adudmrner, eflent_ggraflen @mAludehr o arer
<ifls arananfisamsudorar eflent_ser HLISH QewiwiuLrg).

In case of doubt, English version is the final.

edamésaflc sbCaa0mLG6m 2 hdle aug el QarRssiul Hearer alamésCer Qmiwineng,.

Answer any EIGHT of the following questions.
erarauGugyb o ( eflemmés@pse aflenwefl.
(8 x 5 = 40)

Define Double Entry system?
QoL ufla] WP@DES GOESRTLD S(THS.

What is pay-in-slip?

Qeqsgianass FU_(H eTanmmed cTaes?

Journalise the following transactions in Thiru. Manikandan’s books.

2003 Aug.
5 Sold goods to Arumugam on Credit Rs. 17,500
9 Bought goods for cash from Chellappan Rs. 22,500
15 Received Rs. 80,000 from Sivakumar as loan Rs 80,000
21 Paid wages to workers Rs. 3,000
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8. wenllsam_em seuiseian GHLUGCUL 4o Spasranb b e samasamerys Lgey Qewabd

2003 =y sevl
5 SMIAPEES1EE S el pLeer Qsiisg) - 5. 17,500 @
9 Qeaveliuer seuisaflLLblmbs) Grjmésa;g,g‘,]@@ Qametapgd Gubmg ep. 22,500
15 AouggmMtmbg sLer QubHDg 5. 80,000
21 Ceuena I maTa: (e d @ Faedl G]é;rr@gj;g@ 7 gp. 3,000
4. What are the objects of subsidiary books?

glenent ¢ (Haenem LW eTU(hSE cugen CHTESRISET WTeneu ?
5. Write notes on ‘Contra Entry’.
ergliriudley updl @diy euenrs.

6. Make a bank reconciliation statement of Mr. Saravana Kumar from the following
particulars.

(a)' Balance as per cash book Rs. 15,000
(b) Chequés deposited but not cleared Rs. 1,000
(c) Cheques issued but not presented for payment Rs. 1,500

(d) Interest allowed by bank Rs. 200

ED&ETEID SHIMGHE 0 (Hb) .Q@.Enmm@@rr'r Sjauisafler cumdls sfss Hib ulgwenaws swrfés.
(=) Qés gigeig @iy ep.15,000

(<) aumdluiler Qeqsslw sTCFTen&ET aureursEsLILLTSS h.1,000

(@) euprsiulL srGeramaser Qg sgamass (parallamaliu@ssiuLalaamea ap.1,500

()  eumidl oefss eullg 65.200.
7. What are the disadvantages of Trial Balance?

@ muumieiléy sremriu{Hb GeDUTHSET WTenel?

008/DD/18 2



10.

Prepare a trading account of Mr. Devan for the year ended 31st December 2002.

Opening stock

Purchases

Purchases returns

Sales

Sales returns

Closing stock was valued at Rs. 8,600

Rs.

5,700
1,58,000

900

2,62,000
1600

Bm. Caeuen eramucuiilen 31 igabum 2002-6 Apiq b 2y @Tiq Hamer efwTuy sasdlenans swirfléseb.

QaT_&&s 768 miy

QameTpsa

GQameTpse HmLiub

& m Lienest

el Lienen SlmLiin

@ms sredmiy m.8,600 erean semadlL Ll [HeTang)

What are the kinds of returns books?

SmpLiu ghsafler cuanssdr wraneu?

m.

5,700
1,58,000

900

2,62,000

600

Prepare Trial Balance as on 31.03.2017 from the following balances of Mr. BalaKumar.

Capital

Creditors
Drawings

Salaries

Bills Receivable
Bills Payable
Debtors.

Sales

insurance

Land

Commission received
Purchases

Sales Returns
Purchased Returns
Carriage inwards
Printing and Stationary
Stock

Machinery

Wages

Rent

Interest received
Electricity Charges

Rs.
3,40,000
13,000
4,000
38,200
5,800
7,000
16,000
1,44,000
2,200
2,50,000
800
94,000
3,400
2,400
1,400
5,000
29,900
50,000
5,000
1,600
1,700
2,400
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Sm.ure@LrT  euisaien é’@&ﬁﬂ@ﬂ@}f}@ a@&suUlL @uuysmars Csmem()

BreneTw @\mUumiey Suwirflses?

008/DD/18

P SHETLD
sLaTHCmT
er(hu e
oargluwib

QunsHENw LIHNFE (HeeT
Qeusgisn@Aw wrHmss_Haear

sLenmeflser

el Huenenaser
sTUSHseT

Hlevid

Qupp sy
QareTapgen
eflpuener SHmLiLib
Qararapsear HHLb
2 61 gHdF Qed QFwey
D455 GT(p&IQuIm(HaT
Fra&dE(mLiy

@By

Fnedl

GUTL G0

Quibm eul g

W&t &L_L_amrid

@.
3,40,000
13,000
4,000
38,200
5,800
7,000
16,000
1,44,000
2,200
2,50,000
800
194,000
3,400
12,400
1,400
5,000
29,900

50,000

5,000
1,600
1,700
2,400

31.03.2017wb



